


𝑇𝑇𝑇𝑇𝑇𝑇 % 𝑜𝑜𝑜𝑜 𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠 = 𝑇𝑇𝑇𝑇𝑇𝑇 (𝑚𝑚𝑚𝑚𝑚𝑚𝑚𝑚)
𝐵𝐵𝐵𝐵 (𝑚𝑚𝑚𝑚𝑚𝑚𝑚𝑚)

∗ 100

Therefore, here is the equation for a change in TDG due to a change in barometric pressure 
(BP, any unit):

𝑁𝑁𝑁𝑁𝑁𝑁 𝑇𝑇𝑇𝑇𝑇𝑇 % 𝑜𝑜𝑜𝑜 𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠 =
𝐶𝐶𝐶𝐶𝐶𝐶𝐶𝐶𝐶𝐶𝐶𝐶𝐶𝐶 𝐵𝐵𝐵𝐵
𝑁𝑁𝑁𝑁𝑁𝑁 𝐵𝐵𝐵𝐵 × 𝐶𝐶𝐶𝐶𝐶𝐶𝐶𝐶𝐶𝐶𝐶𝐶𝐶𝐶 𝑇𝑇𝑇𝑇𝑇𝑇(% 𝑜𝑜𝑜𝑜 𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠)





Ice Harbor Forebay Pressure Only Forecast

Date/time BP (in) TDG (% sat)

4/11 0700 29.94 115.9

4/11 2000 29.55 117.4

4/13 0800 30.37 114.3

Weather Underground at Pasco at 0730 4/11/2018



Spill bays 18 and 19 opened
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